

INVOICE Borcelle Restaurant

INVOICE TO:

Daniel Gallego

hello@reallygreatsite.com

Invoice Date: 8 July 2023

Due Date: 8 August 2023

| Items | Qty | Price | Total |
|-----------------|-----|-------|-------|
| Ravioli Pasta | 2 | \$15 | \$30 |
| Beef Steak | 2 | \$55 | \$110 |
| Potato Salad | 1 | \$4 | \$4 |
| Cranberry Juice | 2 | \$2 | \$4 |

Send Payments To:Subtotal\$148Bank Name: Borcelle RestaurantTax (10%)\$14.8Bank Code: 123-456-7890Total Price\$162.8





INVOICE Fauget Steak House

Invoice To:

Morgan Maxwell

+123-456-7890 hello@reallygreatsite.com 123 Anywhere St., Any City

Date: 04 July 2023 Invoice No: #12345

| Item | Price | Qty | Total |
|----------------------------------|-------|-----|-------|
| New Zealand Ribeye Steak | \$25 | 1 | \$25 |
| Australian Ribeye Steak | \$30 | 1 | \$30 |
| New Zealand Tenderloin | \$20 | 2 | \$20 |
| Japanese Kobe Beef Cube | \$120 | 1 | \$120 |
| New Zealand Filet Mignon | \$20 | 1 | \$20. |
| Australian Filet Mignon | \$22 | 1 | \$22 |
| Japanese Wagyu Steak | \$300 | 1 | \$300 |

Total: \$537

Bank Info

Bank Name: Fauget

Bank Account: 123-456-7890





Borcelle Restaurant

Invoice to:

Daniel Gallego

+123-456-7890

123 Anywhere St., Any City

Invoice no:

1234

Date issued:

25 October 2023

| NO | ITEM | PRICE | QTY | TOTAL |
|----|---------------|-------|-----|-------|
| | | | | |
| 01 | Beef Steak | \$22 | 1 | \$22 |
| 02 | French Fries | \$22 | 1 | \$22 |
| 03 | Cola Drink | \$22 | 1 | \$22 |
| 04 | Pancake | \$22 | 1 | \$22 |
| 05 | Mineral Water | \$22 | 1 | \$22 |

Bank Info

Bank Name: Borcelle

Bank Account: 123-456-7890

Total: \$110



To:

ISABEL MERCADO

Date:

AUGUST 9 2029

| Product(s) | Details | Price | Qty | Total |
|------------|----------------------|--------|-----|--------|
| Food D | Number D, Model D | 30.000 | 2 | 60.000 |
| Food E | Number E,Model E | 20.000 | 3 | 60.000 |
| Drinks F | Number F, Model F | 10.000 | 1 | 10.000 |

 Subtotal
 Rp130.000

 Tax
 Rp13.000

 Total
 Rp133.000





Invoice to:

Invoice#

52131

Daniel Gallego

Date

01 / 02 / 2023

123 Anywhere St., Any City, ST 12345

| Item | Quantity | Unit Price | Total |
|------------------------------|----------|------------|-------------|
| A4 Paper (75gr/m2) | 10 | \$20 | \$200 |
| Pencil (12ea/box) | 5 | \$15 | \$75 |
| Ruler | 2 | \$5 | \$10 |
| | | Subtotal | \$285 |
| PAYMENT METHOD | | Tax (0%) | \$ 0 |
| Rimberio Bank | | | |
| Account Name: Alfredo Torres | | Total | \$285 |

Pay by: 23 June 2023

Account No.: 0123 4567 8901

Thank you for your business!

Authorized Signed



BILLED TO:

Imani Olowe +123-456-7890 63 Ivy Road, Hawkville, GA, USA 31036 Invoice No. 12345 16 June 2025

| Item | Quantity | Unit Price | Total |
|-----------------------|----------|------------|-------|
| Eggshell Camisole Top | 1 | \$123 | \$123 |
| Cuban Collar Shirt | 2 | \$127 | \$254 |
| Floral Cotton Dress | 1 | \$123 | \$123 |
| | | Subtotal | \$500 |
| | | Tax (0%) | \$0 |
| | | Total | \$500 |

Thank you!

PAYMENT INFORMATION

Briard Bank

Account Name: Samira Hadid Account No.: 123-456-7890

Pay by: 5 July 2025

Samira Hadid

123 Anywhere St., Any City, ST 12345



Invoice to: Invoice No: 776-348

Date: 08 April 2021

DESY APRILIA

Direct Manager of Company 123-456-7890 hello@reallygreatsite.com

DUE: 1,195

| Description | Qty | Price | Total |
|---------------------|-----|-------|-------|
| Web Design | 2 | \$120 | \$240 |
| Logo Design | 3 | \$75 | \$225 |
| Facebook Banner | 2 | \$210 | \$420 |
| Mobile Kit Template | 1 | \$320 | \$320 |
| | | | |

Send Payment to :

Account Name : your name account

Account No: 0327-7887-128

Sub-total: \$1,205

Tax: \$10

Total: \$1,195

Thank you for purchase!

MILEA

Administrator

Invoice to
John Smith
Really Great Company
hello@reallygreatsite.com

Invoice #00000 Due 1 January 2022

| Description | Price | Total |
|-------------------------------------|-----------------|----------|
| | | |
| Your itemised description goes here | \$100.00 | \$100.00 |
| | | |
| Your itemised description goes here | \$100.00 | \$100.00 |
| Your itemised description goes here | \$100.00 | \$100.00 |
| rour hemised description goes here | \$100.00 | Ψ100.00 |
| Your itemised description goes here | \$100.00 | \$100.00 |
| | | |
| | | |
| | Total | \$400.00 |

Pay to: Really Great Bank Account Name: John Smith

BSB: 000-000

Account Number: 0000 0000

THANK YOU FOR YOUR BUSINESS!

Invoice To

Aaron Loeb

123 Anywhere St., Any City, ST 12345

Invoice #123456 Date : 02 May, 2023

| SL. | ITEM DESCRIPTION | PRICE | QTY. | TOTAL |
|-----|-----------------------|----------|------|-----------|
| 1. | Bussiness Card Design | \$ 50.00 | 3 | \$ 150.00 |
| 2. | Product Design | \$ 75.00 | 2 | \$ 150.00 |
| 3 | Logo Design | \$ 85.00 | 1 | \$ 85.00 |
| 4 | Flyer Design | \$ 15.00 | 5 | \$ 75.00 |
| 5 | Brochure Design | \$ 15.00 | 10 | \$ 150.00 |

Thank you for your bussiness

Sub total : \$ 610.00 Tax : 0.00%

Payment Info:

Phone Number : 123-456-7890

Website : www.reallygreatsite.com
Email Address : hello@reallygreatsite.com
Address : 123 Anywhere St., Any City

Terms and Condition

Payment is 30 days net upon delivery. Safe storage of the products of MyCompany is necessary to ensure their quality, MyCompany will not be held accountable in case of unsafe storage of the products

Total \$ 610.00

Authorized Sign

INVOICE #1234

Issued: 06/09/2021

Due: On Receipt

BILL TO: Olivia Wilson 123 Anywhere St., Any City, ST 12345 PAYABLE TO:
Bailey Dupont
hello@reallygreatsite.com
reallygreatsite.com

| DESCRIPTION | HOURS | PRICE | TOTAL |
|----------------------------------|-------|-------|-------|
| Description of service goes here | 5 | \$100 | \$500 |
| Description of service goes here | 5 | \$100 | \$500 |
| Description of service goes here | 5 | \$100 | \$500 |
| Description of service goes here | 5 | \$100 | \$500 |
| Description of service goes here | 5 | \$100 | \$500 |
| Description of service goes here | 5 | \$100 | \$500 |
| Description of service goes here | 5 | \$100 | \$500 |

AMOUNT DUE: \$3500